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LABOURWELFARE AND INDUSTRIAL RELATIONS/LABOUR AND
SOCIALWELFARE/HUMAN RESOURCE MANAGEMENT

PAPER —II

Note : This paper contains fifty (50) objective-type questions, each question carrying
two (2) marks. Attempt all of the questions.

1.  Match the following :

Proponents Management thought
(a) F.W. Taylor (i) Systems theory
(b)  Elton Mayo (ii) ‘Z’ theory
(c) William Ouchi (iii) Scientific Management
(d) Rensis Likert (iv) Human Relations
(@) () (o) (d)
(A () (v G 6
B i) G) () 6
© 6 G 6@ )
D) Gi) Gv) 6 ()
2. Arrange the following phases of Hawthorne experiment in the sequence in which they
were held :

(i) Bank wiring observation test room
({ii) Mass interviewing programme

(iii) Ilumination experiment

(iv) Personal counselling

(v) Relay Assembly test room experiment
(Aa) v O @ @) )

B) @) (v @) @ )

© @) @O @ ) W)

D) Gv) @) O G W

3.  Arrange the following steps in the planning process in which they occur :

(i)  Establishing objectives (ii) Determining planning premises
(iii) Analyzing opportunities (iv) Evaluation

(v) Identifying alternatives (vi) Selection

(vii) Review (viii) Implementation

(A) (i) () (1) (v) (@Gv) (vi) (viii) (vii)

By (@ () @) (iv) (vi) (v) (viQ) (viii)

Q) (i) (@ () (v)  (vi) (vii) (iv) (vii)

(D) (i) (@) (v) () (Gv) (vi) (viQ) (viii)
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4. Assertion : Organizations embody authority, responsibility , and communication
structures.

Reason : All these structures can be delegated in a top- down flow.
(A) Assertion and Reason are wrong

(B) Assertion is wrong and Reason is correct

(C
(D

) Assertion is right and Reason is wrong
)

Assertion and Reason are right

5. Gangplank theory of communication advanced by Henry Fayol is an example of :

(A) Downward Communication (B) Lateral Communication
(C) Upward Communication (D) Network Communication

6.  The provision of Grievance settlement Authority is provided in which of the following
Acts ?

(A) The industrial employment (standing orders ) Act
(B) The Factories Act

(C) The Industrial Disputes Act

(D) The Trade Unions Act

7.  When the Personnel Department performs all the core functions and its head reports
directly to the CEQ, then such department is called :

(A) Independent Split-function Department
(B) Staff Co-ordinated Extended Department
(C) Independent Integrated Department
D)

D) Split-function , Staff-coordinated Department
8.  Which of the following is not a method of recruitment ?
(A) Scouting (B) Employment exchanges
(C) Advertisement (D) Application Blank
9.  Wage survey method is used for getting information regarding :
(A) Prevailing Wages (B) Variable Pay
(C) Dearness Allowance (D) All the above
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10. Which model of HRM highlights the interests of all the stakeholders ?
(A) Wanwick Model (B) Storey’s Model
(C) Legge’s Model (D) Harward Model

11. Which of the following is not a simulation technique of development ?
(A) In - Basket (B) Case study

(C©) T-group (D) Management garmes

12. Match the following expressions with the ego states mentioned against them :

Expressions Ego states
(a) Rationality (i) Parent
(b) Fantasising (i) Child
(c) Demonstrating (iii) Adult

(a) (b)) (o)

A) (@) () (i)
B) (i) () (i)
CONNUINU

None of the above

13. The subjective probability of efforts resulting in the outcome (the first level outcomes),
is known as :

(A) Expectancy (B) Instrumentality
(C) Incentive (D) None of the above

14. Which of the following is the correct sequence of career development stages ?
i)  Mid career
il) Late career

(

(

(iii) Exploration
(iv) Decline

(

v)  Establishment

(A) @ @) @) () ()
(B) Gi) @) G () (W)
© @ @) () @) (i)
D) Gi) (v @ @) ()
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10. ¥Fd SEEE Y94 (U 2 UH) &1 i 91 430 Eoh-aoed & fgdl W I ear g
(&) ik e (B) W HEa
Q) = HRA (D) TEE He

11. Frefafaa § @ $F faem ot srgefa wfafa == &)
(A) A-ATER (B) %W Sl
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(@) (b (o)

(A) @ @) (i)
B) G @ ()
@ (@) @G @
(D) aifefad § § #18 T&

13. YA &1 ATHIE Hureran, S s § wfawiora gt & (TS o0 Ju| ), W %ed ©
(A) AT (B) I (C) UrERd (D) T § D R

14. Trafafad § 9 S8 SRR 9w o emenei &1 9 o1 €1
i = *iEr
(i) 2 HHI
(iii)  STEHL Bl BHA-SAH HEAT
(iv) 79
(v) T
(A) @) @) @) (Gv) (v)
B) G @ O ) W
© © @) ¢ @ ()
D) G ) O @
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15.

16.

17.

18.

In OCTAPAC mmstrurmnent of HRD culture , the words O, T, and P stand for :
(A) Openness, Team, and Performance

(B) Organisation, Training, and Potential

(C) Opinion, T-Group, and Probability

(D) Openness, Trust, and Pro-action

Reinforcement given by removing a noxious or undesirable stimulus from the
environment is known as :

(A) Tositive Reinforcement (B) Negative Reinforcement
(C) TPunishment (D) None of the above

Match the names of the Behavioural scientists and their contributions given in the
List-A and B

List-A List-B
(a) Mayo E. and Roethlisberger F.]. (i)  Theory X and Y

(b) Mc. Gregar D. {ii) Michigan study an leadership style
(c) Likert R. (iiiy Trait Theory of leadership
(d)y Kelly]. (iv) Hawthome effect
(@) (b)) (o) ()
(@) v) @ @) ()
B) @ @ @v) (i)
© @ @ @ W)
D) Gv) @ @) (@

Assertion (A) : The content theories of motivation assume a direct relationship between
Job satisfaction and improved performance.

Reason (R) : Job satisfaction does not necessarily lead to work performance.
(A) (A)is True (R) is False

(B) (A) is False (R} is True

(C) Both (A) and (R) are False

(D) Both (A) and (R) are True, (R) is not the correct explanation of (A)
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15.

16.

17.

18.

e GareE fawm gepfa & o A v di e, faenur § oft, &, a0 @ S8R %1 9 €9 #:
gl

(A) S, 2 a9 IRHe (B) FNSSIRH, S a1 Gy
(CQ) idifEm, d-39 9 dafafeadt (D) 9, TR, 9 W-twe

AT T IRy § 21w T STH STl Yoo @ 99 hed
(A) TEHNEE FaoH (B) TN o

€ == (D) = ¥ F T

Frefefiad g=t A 9 B # %49 15U 10 SHaerare! S 991 316 SUSHl 1 et #X |

gei-A qA-B
(a) AT q Tl w3 () fr@xuey
(b) H® IR (i)  THRTH =21 ofE dieii™ wEa
(© Ffe am (iii) e faerd =ifw wisfim
(d) el S (iv) YU Thee
() (b)) (o) (d)
(A) (v) () @) (i)
(B) @) () (v) (i)
(@ @) @ G (i)
D) (v) () (i) (i)

gEFYT (A) ;AT @ gfe-faguia wE-wqfe aw sw wE-feea & &9 g
Tt A § |

WHROT(R) : -4 afEd w9 § s oo # gfa-wiaa & @)
(A) (A) TR E, (R) Tod &

(B) (A) TId & @A (R) WEl

(C) (A) T (R) <A wét &

(D) (A) T (R) S &l B 1 (R), (A) Tl Tl =0e Tl |
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19.

20.

21.

22.

If the change is plotted on two axis of Time and difficulty involved in change * then
which of the following would be the correct sequence of change taking place in shortest
time and difficulty to maximum period and difficulty ?

(i) Group Behaviour

(i) Individual Behaviour

(iii) Organisational Behaviour

(iv) Knowledge

(v) Attitude

(B @) ) G @) 0

® O @ @ @ ©

© @ () O ©

O @ & @ O G

Which of the following is one of the process Theories of motivation ?
(A) Alderfer's E R G Theory (B) Achievement motivation Theory

(C) Manifest need Theory (D) None of the above

Which of the following factors is helpful in promoting peaceful industrial relations ?
(A) Mutual understanding

(B) Freedom of expression

(C) Freedom of Association and collective Bargaining

(D) All the above

Which of the following is not true in regard to the approaches to industrial Relations ?
(A) Giri Approach (B) Dunlop Approach

(C) Nehru Approach (D) Gandhi Approach

J—5509 10



19. & I5eTa & I5eE | IS THA qA HiSAE & o1 a7 W ifera fwan s @ stewaw ww
q0 FHI3TE | Tt Afrpan wemafy aon S # wfea 81 arer Igera o 9@ STwE
il

(i) TR SRR

(i) =ATHTd TR

(i) EHISTHE HAEN

(iv) IA

() T

(A) () (v) @) @) @)
B O @ ) @ ()
© G @ O & W
(D) (v) (v) () @) i)

20. Trafafaa § 9 w0 AR %1t uiwa fasr (9ag faer) ¥
(A) TUeeH & g 3R it fagr (B) 3uatfey sifErw fagma
(C) YA avashdl T9g= (D) T § % &

21. Trafafad § § i Frw wifaget sigaifien Feel S seE 3 § Jews §
(A) IR HgHE

(B) afireafs =i T
(C) U= &I T au wfesw Searst
(D) 3|t

22.  irgdife Hadl % SIFHI % e # fefafaa § 9§ 9 9 w92 6 8

(A) TR S9F™ (B) STe19 SUTH
(C) & S (D) e U
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23. Arrange the following dispute settlernent methods in order of their applications :
(i)  Conciliation / Mediation
(ii) Adjudication
(iii) Voluntary Arbitration
({iv) Collective Bargaining
() ) @ @) (@
(B) (v) (@) @ @
© @ Gv) @) (@)
O) 0 G @) @

24. The scheme of workers participation in Management was introduced by Government

of India in .
(A) 1965 (B)y 1975
(C) 1985 (D) 1995

25. The code of discipline implemented by the central Government was :
(A) Voluntary in nature
(B) Compulsory in nature
(C) Partly voluntary and partly compulsory
(D) None of the above

26. The most important year in the history of Indian Trade Union Movement has been :
(A) 1920 (B) 1922
(C) 1940 (D) 1947

27. The primary source of income for the union is :
(A) Membership subscription (B) Donations
(C) Sale of periodicals (D) Other sources

28. Who among the following will not be regarded as an outsider in trade union ?
(A) Political leader (B) Persons working in other industry

(C) Lawvyers (D) Ex - employees
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23.

24.

25.

26.

27.

28.

Frfataa faar Haer fafu=r @t 539 S uEm < % | =Hafed &1
() THIHM / AEed

(i) ol

(i) Tz / foar=r

(iv) SHfew Srearsit

(A) (v) @) (@) (i)

B) (v) @) @) @

M (v) () (i)

i (i) (iv) (id)

IRA TN A FF4H § SARI S Teuiiar & feg a8 # 3& fear |
(A) 1965 (B) 1975
(C) 1985 (D) 1995

e TR SN €] I STYTEH S wiear o |
(A) Wfes® wHia ot
(B) FAFaTd epfa =t
(C) =i Wi ae i starE wHhia =i
(D) = ¥ &E Tl

T § SN TN I ASGE 9 STEeH o sfaer § Haife e ol @ T
(A) 1920 B) 1922
(©) 1940 D) 1947

T o foru, a1 o1 v s Fefefaa § @ | )
(A) WEE Ieh (B) T
(C) afremat ki fashi (D) I E[E

Frefeafaa § § el vy &= | aedt =afs 6l 9 ST
(A) TSHifae S (B) =7 3N § ®Ea AfE
(C) &I (D) A - HHARI
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29. The provision regarding political fund under the trade union Act, 1926 is :
A)  Creation of political fund is compulsor
P P ¥
(B) It is optional
C) It is partly compulsory and partly voluntar
partly p TY partly Y
(D) None of the above

30. Match the following Theories of trade unionism with the contributors who propagated them :

Theory of Trade Unionism Contribution
(a) Industrial Democracy Theory (1) M. K. Gandhi
(b)  Scarcity - consciousness Theory (i) Robert F. Hoxie
(c) Socio - Psychological Theory (iii) Sydney and Beatvice webbs

(d) Class collaboration and harmony Theory (iv) Selig Pearlman
(@) (b (o) (d)

(A) (v) () () ()
B) () (v) @) (1)
(© ) G Gv) (i)
D) @) @ @) @)

31. Who had propagated social engineering in industrial jurisprudence :
(A) Roscoe pound (B) Ehilrich
(C) Both Aand B (D) None of the above

32. The international labour code consists of :
(A) The conventions and Recommendations of L. L. O
(B) The proposals submitted by the member countries
(C) The opinions of the U. N. O
(D) All the above.

33. The number of bipartite committees as provided under the factories Act, 1948 :
(A) 1 (B) 2
<Gy 3 (D) 4
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29.

30.

31.

32.

33.

Aot T ifatrem, 1926 § * werifae wm'' @ HeEfta yauH feetataa § 9 SF e g
(A) TSHIfGR ®is %1 fFmfo sifer &

(B) ¥ JHicTH ©

(C) =& Tk ' § e § qun aifres w9 H @iesh ¢

(D) W i T

T WA i Frefatea fagd ®1 51 sitwt % e frem st fe 39 e fae
(a) Iefigae fenihl fasrh () TEFHIER
(b) TR Fifaae fasr (i) T T Bt
(c) - HrseRieiiseher faerl (iii) Toer wre dieary o=y
(d) T HEAERA UUS A R (iv)  fer geidd
(@) (B (0 (@
(A) (v) @) (i) ()
(B) (i) (v) (i) ()
K (@) (v) (i)
(i @ () (@)

sigafier fafuere | Here Sitate i foeee geiia R
(A) TRl 930S (B) U=
(C) A T B &M (D) T 9 *E Tl

AL g Hied § Feafafaa § 9 w0 gl €1
(A) *TE U i % sifEe qun et

(B) HEH W 5 UKA {ohd T W

(C) ¥, T & % «fiwd

(D) TTH 9 g+

HEEEE afufeyg 1948 | forart fuefia wiafa =1 yaam €
(A) 1 (B) 2
) 3 (D) 4
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34.

35.

36.

37.

38.

39.

According to the workmen's compensation Act, 1923 for calculating the compensation
the maximum salary slab amount , the management can consider is :

(A) Rs 2000/- (B) Rs 3000/ -
(C)  Rs 4000/- (D) Rs 5000/ -

‘According to the employees’ state insurance Act 1948, the wage ceiling is :
(A) Rs 7500/- (B) Rs 8000/-
(C) Rs 9000/- (D) Rs 10000/-

Which of the following is not a part of the Trade unions Act, 1926 ?
(A) Registration of trade unions

(B) Rights and Liabilities of Registered Trade unions

(C) Cancellation of Registration

(D) Recognition of Trade union

Special provisions relating to lay - off retrenchment and closure will apply where not
less than :

(A) 50 Workmen were employed (B) 100 Workmen were employed
(C) 300 Workmen were employed (D) 500 Workmen were employed

Which of the following in valid under the industrial disputes Act 1947 with regard to
Arbitration Award :

(A) It shall become enforceable on the expiry of 30 days from the date of its publication

(B) It shall not become enforceable on the expiry of 30 days from the date of its
publication

(C) Partly A and partly B
(D) The Act is silent about it.

MNCs in India are repeatedly demanding change in which of the following provisions
under the industrial Disputes Act ?

(A) Provisions relating to public utility service
(B) Strikes and Lockouts

(C) Unfair Labour practices

(D) Lay- off , Retrenchment and closure
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34.

35.

3e.

37.

38.

39.

FAER affaqfd sifufrm 1923 % iaria afagfi-ufn % FafRo &g afieean a7 ofi e
(A) ¥ 2000/- (B) ¥ 3000/-
(C)  TIF 4000/ - (D) T 5000/-

FEN T ST i 1948 % S S T )
(A)  TIF 7500/ - (B) T 8000/-
(C) ¥4 9000/- (D) F9F 10,000/ -

frfafaa ® & &M o1 Aeigy oo aifufem, 1926 %1 39 T2 1
(A) TSI Wl Hl HAAA (B) HSig Wty W I AR S arPre
(C) st w1 i (D) WG §5 ] W=l <

-, Bt a9 S F IS WaH™ A6 AT A6 S sHd g9 FHER 1w # |
(A) 50 § ®H % FHER (B) 100 ¥ %W f® FHER
(C) 300 ¥ %A Fg® wHER (D) 500 & %W F® FHER

et % ged # st foar sfufrm 1947 & s frefafaa 9 9 <0 @ 9= £
(A) 9 FReH H fafa & 30 T % =fid ST % o= 78 @0 g

(B) &k TR I fafar & 30 T % <fia <7 & =g =g < & 2n |

(C) Aiforeh ®9 9 A a9 i 9 9 B

(D) 38 = H sifufem # 32 & )

Ra | R Fg-2uia s sigEfie faarg afufrm 3 feg waum i ages it ermar
AT W E |

(A) TR TN W § Heifud geHe

(B) ESdrel a1 dreTEal

(©)  orgfem Aff A=

(D) T-3AF, S, a1 I
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40.

41.

42.

43.

An employer has submitted draft standing orders to certifying officer for certification.
Mean while which of the following will be applicable :

(A) Nothing will be applicable there
(B) Certified standing orders of any other similar organization
(C) Model standing orders

(D) None of the above

Who opined that the “Labour Welfare officer should not merely remain looking after
the interests of the management , but also consider they are custodians of the rights
and privileges of the workers ?

(A) G.L. Nanda (B) V.V.Giri
(C) Morarji Desai (D) M. K. Gandhi

The welfare is a state of living of an individual or a group in desirable relation to the
total environment , animate and inanimate , according to :

(A) K. N. Vaid (B) A.M. Sharma

(C) M. V. Moorthy (D) S.D. Punekar

Match the following :

Welfare funds Years
(a) Coal Mines Welfare Fund Act iy 1973
(b) The Mica Mines Welfare Fund Act i) 1961

(c)  The Iron Ore Mines Labour Welfare Fund Act (iii) 1946

(d) The Lime Stone And Dolomite Mines Labour (iv) 1947
Welfare Fund Act

(A) @) @) @ (i)
B)  (v) Gi) i) ()
© @@ v O ()
D) (v) G () ()
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40. U TREIRET 3y ifaeRd O TRy TR SARY 1 UH HEE YHIied w3 & fore e
o &1 39 == Feforfiaa § 9 9 wEsg ey e 2

(A) = ot @] T g

(B) TEN TR & TRl &= W¥IeT 1 yHIfor Tt Amew
(C) TISe TRl ARy

(D) s 9 =i T

41. T =% wa =6 foran fon afoes shoamon arfeRrd it Sharer e / veieE & fadl W & e e
= Y& =fen, o1fag S 39 9 W ot faen e e fe @ wHwnl & efusnl an
TRl & erfiter ot 1

(A) SuE. e (B) . fiflt (C) WIS 26T (D) TH. &, W
42. Tt =f® 1 S ®1 STh Sl TREw ST a1 STH < 919 S8 Sag H e & 8 e

¥ 7 femd =1

(A) WA (B) T UH M (C) T & i (D) TEE T

43. TretafaEa = faem o1

(a) hIcl HIEY defheR HUS U (i) 1973

(b) g A ASE SR WIS UHE (i) 1961

() TS A AR H5 ofel dettha (iii) 1946
hUs T

(d) g =meH €H urg SreiHEe 7EY (iv) 1947
TR JeTheR IS UFe

(@) ) ( (@
(A) @) @) @) (v)
B) Gv) @) @) )
© @ Gv) @) (i)
D) () @) @) (1)
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44.

45.

46.

47.

48.

Which of the following recommended to the Government of India to consider making
social security as a fundamental human right ?

(A) The Labour Investigation Cornmittee
(B) The Royal Commission on Labour
(C) The First National Commission on Labour

(D) The second National Commission on Labour

Which of the following cannot be regarded as a statutory welfare facility for factory
workers ?

(A) Canteen
(B) Housing
(C) Shelter , Restrooms and Lunch rooms

(D) First Aid Box

Who among the following is not included in labour force ?
(A) Persons below 15 years of age  (B) Housewives and pensioners

(C) Mentally Disabled (D) All the Above

The scope of state regulation of wages in the present scenario in India particularly , in
the organized sector is :

(A) Increasing (B) Decreasing

(C) Irelevant (D) None of the above

The ongoing industrialisation in the country is contributing to which type of
unemployment ?

(A) Cyrclical Unemployment (B) Frictional Unemployment

(C) Seasonal Unemployment (D) Technological Unemployment
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44. TAIRSTE T B! AHiferw AFATSR 39H R faar @ tg Feafatea § § e vria T n
Y fomfar =i 81

(A)  fg oioR SaeTvA ide
(B) Tz THa wHiTR M TR
(€ T& v e FHNE S AR
(D) & Twve AvFe FHHIVA ST R

45. FREF H F9 w0 Tl & fou Freafatea § § fma dufie s giaw = we s
Hehdl ¢

(A) FA
(B) eTmEH
(C) T T, SH-HE, HISH-FY

(D) wrafhes foferea 9

46. Trafafaa § @ 8 90 vfe § et 7@ T s |
(A) 15 98 § FH &g H AH (B)  Tfeforar qen dym-winft
(C) WHfy® ®9 ¥ sE@Em (D) 3TE T

47. o999 &9 ¥, €IS &5 H, A o Wigw W, Wil & T faimHl o forea) &1 |
(A) T M@ E (B) WA T@IE

€ cifemdas (D) THAFDE 2

48. <9 Y FaAM AN fohd YR 1 SRISFIRI & &7 & |
(A) =TSR SIS (B) WiregH SeTd
(C) wrEE IS (D) AT SIS
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49. Which of the following is not a method for fixation of minimum wages in India under
the Minimum Wage Act, 1948 ?

(A) Notification Method (B) Committee Method

(C) Wage Boards (D) None of the above

50. In an inflationary economy like ours to-day, which of the following components of
wages becomes more important :

(A) Overtime (B) Incentive
(C) Bonus (D) Dearness Allowance
-00o0-
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49. =R Asgh aAfafem 1948 % Sdarda Frafafea § 4 ®6 @ fafu wra § = asgh

Foretoor a6t fafa 181 &
(A) sieRE fafy (B) wfufa fafu
(C) weigl IR (D) T 9 FE T

50. TERI TS 1 S9HM HRERIIS STeeraes & M § TEd gU, A9gd &l & | 2@ 9ma
HEEYY BRI ST @I T |

(A) sireReTEH (B) U (C) " (D) HEME WAl

-00o0-
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